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Ï×I	�U:WN��W)��Æ´»ð&�!Aì%Xî�ABCD Î«�
 S ÝÎ��a1, a2, a3 5½��X3ë�� ½Ý«��
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1-1. Þ°að CE, CF, CB, CD Ý¶� CE · CF · CB · CD |�r
S, a3 �î�

1-2. Þ°að CE, CF, CB, CD Ý¶� CE · CD · CB · CF |�r
S, a1, a2 �î�

1-3. J�
S2 − 2(a1 + a2 + a3)S + 4a1a2 = 0.

1-4. Þ S �
 a1, a2, a3 Ý2P�
1-5. Þë�� AEF Ý«�à�r a1, a2, a3 �î�
1-6. Æá a1 = 12, a2 = 12, a3 = 6�Oë�� AEF Ý«��
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2-1. Þ°að CE, CF, CB, CD Ý¶� CE · CF · CB · CD |�r
S, a3 �î�

2-2. Þ°að CE, CF, CB, CD Ý¶� CE · CD · CB · CF |�r
S, a1, a2, a3 �î�

2-3. J�
S2 − 2(a1 + 2a2)S + 4a2(a1 + a2 + a3) = 0.

2-4. Þ S �
 a1, a2, a3 Ý2P�
2-5. Þë�� ABE Ý«�à�r a1, a2, a3 �î�
2-6. Aì%Xî�«�
 A Ý�Î���5vW°Í�Î��Í� a1, a2, a3 
X3�Î� ½Ý«��

a1 a2

a3J�
A = a1 + a2 + a3 +

a2a3

a1

.

2-7. Y 2-6�¿àÕ¿��PJ�
A ≥ 2

√
a1a2 + a2a3 + a3a1.

2-8. Aì%Xî
p

q

r

s
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���°\�ÝE�aÞh°\�5vW°së���Í«�5½
 p, q, r, s�J�
pq = rs.ÏëI	�aªº¬' A0A1A2A3A4
�"\��ë�� A4A0A1Ý«�
 a0� A0A1A2Ý«�
 a1� A1A2A3Ý«�
 a2�A2A3A4Ý«�
 a3� A3A4A0Ý«�
 a4�{úJ�"\� A0A1A2A3A4 Ý«� A �|�W

a0, a1, a2, a3, a4 Ý2P� 9µÎb(Ý{ú"\�«�2P�
A2 − c1A + c2 = 0,Í�

c1 = a0 + a1 + a2 + a3 + a4;

c2 = a0a1 + a1a2 + a2a3 + a3a4 + a4a0.
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